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4.1 (4 AZLUY)  int count=2;
inty=18;
while (count < 10)
{
y=y-2;
count = count + 2 ;

}

cout<<“y="<<y<<* and count = “ <<count<< endl;

4.2 (4 AZUUU)  int sum = 8§;
intnum =2 ;
for (int j=1 ; j<=13 ; j=j+3)
sum = sum + num ;

cout << “ Sum = “ << sum << endl ;

4.3 (4 AZUUN) int num =20 , sum = 10;
do
cout<<num<<" “<<sum<<” “<<num*sum<<endl;
num = num - 5;
sum = sum + 2;

twhile (num >0 );

4.4 (4 azUUU) int k=1;
for (int i=1; i<5; i++)
{
for(int j=i+1; j<5; j++) {
k=k+1;
cout <<k <<” 7%

}

cout<<endl;
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4.8 mmualassadedeyadn liye Node 2 azuuu) taz@suisnFuriulnuadoyaninuavos

gulifidulsnennod root %ﬂéﬁﬂﬂ
msisenly 1wy cout<<Count_Node(root)<<endl;
SIHUARIDURAE  int Count_Node(Node *);
48.1 1@eulagldmda while (4 Azuwuw)
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